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1. Blue baly didease 6, v thst the
{metharmogloobinemia) in childeent s o"l‘l":"" ‘"""’::::: :‘“. o magnitude of
, " the two
.y , N0 N ?
(A} Nitrate ity  Chloride
1400 N
K1 Fluoride (17)  Leadd
BOO N

2. Bowditch rule is applisd to
(A} an apen traverse for graphical

adjustment.
(B) calculate the latitude and

departure. (A) Con™'(3/H)
(C) a closed traverse for adjustment of (B Cos~'(-5/8)

closing error. © ‘Con-15/8)

(D)  all of the above

(D) Cos™'(—3/8)

meter of a regime channel for

3.  The fore bearing of a line mmsz'srvd u: Nyt pes
200", the back bearing of the Iine fetted B S mTenil
quadrantal bearing form is - ﬁthg'.;l c':? 64 cumec as per y
(A) S2°W @ swW N B) 56 m
(C) N2rE (D) N7IE (A) 76m (

(C) 485 m (D) 38 m

4. To'have zero active pressure intensity at
the top of a wall in cohesive soil, one can
apply o uniform surcharge of intensity.

2c tan o
-2¢ tan a

(A) 2ccota (8)
(C) -2coota (D)

5.  The ultimate bearing capacity of a sojl |
310 kN/m?, the depth of foundation ag
08 m and bulk unit weight as 20 kN /g
I the factar of safety is 3, what will b

the safe bearing capacity (kN/m? »

(‘3, 19:0.67 :::j) :(::67 (C) high strength boly,
' (D) ordinary unfinished bolr,
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B
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Among the clay minerals, the one having
the maximum swelling tendency is :

(A) Kaolinite (B)  Mlite
(©)  Montmorillonite (D)  Halloysite

When bolts are subjected to reversal of

stresses, the most suitable type of bolt is ;

(A) black bolL
(B) turned and fitted bolt,



SR WRICE canal wyalem

11,

12.

' the theory of
stable channal is given by RG. Kenndy 9

(A)  Krishna Western Delta Canals

{B)  Upper Bari Doab Canals

(C)  Upper Chenab Canals
(D) Upper Doab Canals

In flexure, the maxdmum strain in lension

reinforcement in the section at failure shall
not be less than :

(A) 0.0020

(B) 0.0035

5y
(€) T15E. + 0.002
Jy ,
— + 0.0035
@ Tgsg O
Where, f, is characteristic strength of steel,

and E, I.z modulus of elasticity of steel.

In a network, the critical path in terms of
time fram beginning to end :

(A) is the shoriest path

14.

15.

Q'llihﬂ" the rorret statomend

Page 2

['toscd criterion 8 generally s i

Al :
( practioe bocatise ) s conseryalive

(B oo 18 related to the ."_"’"""”"
square of the prineipal strves
differences.

(€)  Tresca criterion I casler to visualize
" in terms of Mohr's Cirele as
compared o Von-Mises ane.

(D) All of the above

Dummy Activity is a type of activity
which -

(A) is an artificial activity
(B) does not consume time

(C) does not consume Resources *

(D) all of the above

Warping joints in the pavements are :

(A) known as hinged joints,

(B) provided to relieve stresses,

(C) rarely needed if the suitably

is the longes designed expansion and contraction
(B) is the t path joints are provided to prevent
kin
(C) has slack > 0 cracking,
(D) both (A) and (C) (D) all of the above
407/1 - Civil Engg, B
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jutmp in 8 redtangulat channsl =l
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For & very pmvaly over<smmelicdated cia
tampie. the probabie value of pose

Frowmure pargencter & of fatlusr o Lkely
e he

AL s m 0N

5 op D) 020

The charactenit: yiold streagth of
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o
“rcular cross st e in .

o |y Dt

i

— 5t

Al
) Yuft (1}

L i S

- InR? (D)

whete, F in shoar foec. aend R
of croms spction,

b the rudiug

Castiphiano's thevrem

‘A) 85 a tool for the n\a]ym is of staticall
mdetermmate structures. y

(<)

can be derived from Betti's
generalized reciprocal theorem,

(D) is valid for all above

Optitnum mortar mix (Cement : Sand)
for maximum masonry strength with
hricks of strength 5-149 MPa is :

(A) 1:6 (B) 1:5

<) 1:4 o 1:3
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; Jutfonmn, winch has =
" nnﬂr i _
T of 2 kg / . s manply
",‘ "“:“‘.h:'::‘,ﬂ‘rmlu A ard B The

111«.'

’ glarts froth
-#1’1; ‘.‘_,,,.“ucmm withet
m\.

: : Al what
- gwalls 0 the rght
! . d:u;'i!! be the combsined meotment
l,.mhi;“ ~éiﬁ‘“’ of the man and platform
l‘i‘:{:: pu«ﬂﬂ B be zeto T
a

s G T In
p'*‘— l‘_""“!

(A} Around 25m  (B) Around.im
() Around 1L5m (D) Around 3m

The hook length of vertical hoops in
peam-web-reinforcement should be :

(A) 10d (#75 mm)

(8) Bd (=75 mm)

(€) 8d (2100 mm)

(D) 10d (100 mm)
Where d is diameter of bar

A circular shaft of 10 cm radius is
subjected to a torgue of 10w kN-m,
the maximum shear stress (in MPa)

developed in the shaft is
(A) 2 B 20
© 200 (D) 2000

8
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20 1 p i the stansland conssteniy ‘:“gg
the amount of waber Ll
the inilaal setting time

(A) 085 p
€y 030 p

fesl 08 vttt

M. Chlorine demand of water is equal 15
(A} applied chiorine
By tesidual chlorine

(C) sum of Applied chlorine and
Reshifnal chiorine

the difference of Applied chicrme
amyd Resichual chlonine

()

The reaction at I for the beaimn subjected
to a combination of diatributed and polnt
lowwals is

e | | -
1.‘.;!,‘.&.!;..".&-.._93-.{
(A) 1375 kN (M 175 kN
(©) 12H AN (D) 235 kN

32 Which of the tollowing conditions is
considered as the rapid closure of valve 7

[A)  The duration of valve closum (s
groater than 2L/C Tit

()  The duration of valve cJosure i less
than I_LJC

(L} The duration of valve closure is
greater than L/C

(D) None of the above
Where, L is letygth, and C is warve velecity

W7/1 - Civil Engg,
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(il the coprect urﬂ‘ﬂﬂ}

— plums a
it slain 90T snable
Fer mfu«u[ g pean k.
160 gom amd WP wipin It

o a
may I usedd u":rrﬂ' w volume
pean-=

concrete.
(1 15

(A) 10

() 20

riction is the

Negative shin f
due 10 compression

sddditional Joad
of fill
foad reduction due compression

of fill
additional load due o expansion of
soil

load reduction de to friction of soil

(A}
(®)
©

(D)

In & rectangular channel the alternate
depths are 1.5 m and 25 m respectively,

mmdrmugy}nd(Mm)b:

(A) 338 (B) 3.06

(C) 294 (D) 2.85
A mass curve of rainfall is a plot of :

(A)  the maximum intensity of rainfall
against time

(B)  the intensity of rainfall against time

(€1 the accumulated cipitati
apainul time SR

(D) None of the above

B
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he
pthosd can
. Two important ce ‘ v anlioh -
1 noconstituents in 1he W .‘,luml
GMTpOosition of e ralls are h .,.—l"""'1 )
(A)  carbon and manganese “"'*l atricted (8)
T
(B carbon and phespharus (N - (o 4
(C) carbon and sulphuy (! 3
(D) carbon and silicon W i A
p— ewtanian ;1:)’::]" nal
gate of 0 Jius £ is PO
38, The following pinconnected structore & 33 1xlllﬂ"f" tube of
statically - by
0 ®
AT :
‘m 3 ® -
(
, ik with correct option)
43, (Fill 0 the hln.nkl at any section ina
. " Bending momen |
(A)  indeterminate 1o the third degree.

conjugate beam gives In the
(B)  indeterminate to the second degree. actual beaoi.
(C)  indeterminate to the first degree. (A) deflection (8) slope
) :
(D)  determinate. ©) curvature (D) shwar force
39. Choose the correct statement for
unidirectional pressure (p) * 44. The design speed (in km/hr)
(A) The centre of the Mohr's Circle is at recommended by IRC for National

the origin. Highways passing through rolling terrain
lighways p
(B) The centre of the Mohr's Circle is at is in the range of :
8 disenee of p (A) 100-80 (B) 80-65
(C) The radius of Mohy's Circle is p/2. ' |
(D) None of the ahove (©) 120100 (D) 110-90

40. Thebending stress (MPa) inafibre distant 45,
Jem from Neutral Axis in a simply
supported beam (d=10cm, b=6cm) of

Which of the following pavements are
most suitable for black cotton soils ?

span 2m and carrying a uniformly (A} Rigid Pavements
:'i:mbuwd load of ZkN /m on whole span (B) Flexible pave

{A) 10 B) 6x 10-8 Q Semh-Rigid Pavements
(C) 6x10-2 (D) & (D) Any of the above

40771 - Civil Engg. 2
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Side face reinfoncement 1
provided when !
(A) 300 wun
(C)  1HX) mm

Choose carrect stabunent s g o
[A) Summation

of normal & einto
unchanged while M
other frames. o
The analyses of dams. | "7"'@“ 0%
walls, pipeline AT exAPY=s
plane strain PE I
The plane siress pmbi@“:“m'
which in one digection T

mhmwwﬂm

All the above

(B)
©

{0)

As per  [ndian Srandards, the
measurement of sand s done by nﬁr\g

(8) BxBA15
(D) 50 % 30x20

(A) 40x35x25
(C) 50xa0x30

The aceeleration of fud particld insteady
and non-uniform ons dimensional flow
in:

(&) ¢ ® 3

du

¢q R E m) .Nﬂntdﬂ\nahjw

m‘a'm‘"dmph‘hfmﬂih/m:
(A} broning effect of the whoels

(C) temperature changes.

(D) all the above

« Civil Engg,
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Tailsdity be messured on

(A Stadand cotsalt wcale
(1
() Stamdard platinam seale
()

ramlard millca seale
Matinum cotwalt scale

Common burnt clay bricks of class
deatgnation “257 b

(A] maximum compressive strength as

35 MPa.

averapy compressive strength not
loss than 350 kg/om®.

rminimum compressive strength as
35 MPa.

compressive strength more than
15 MPa.

(B)
(©)

(D)

The horizontal steel shaft has a mass of
480 kg and is;uspvl\drdbyax'cnicalcn}ﬂe
from A and by a second cable BC which
lies in @ vertical transverse plane and

underneath the shaft. The tensions
T, and T, in the cables respectively are

k‘l\m\Ll ]

(A) L77 Nand 1974 N v
(B) 120 N and 201 N
(C) 120N and 180 N
(D) 1177 N and 7766 N

-
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Ulhviome thw s
Ve W ¥ o i Q‘u“ﬂ g

A
1 Satemnent g i
o

Phe splues il 5a lat i T i}
b away from | e o

, bie 5t e o
WA hmam sty sji] e ag o 1
4 I

The splices in the Hexural pegpgy
sbroudid et b ad s e by ||:
beraling wsaretiy by gy Hhan &y
of the mowmwnt (o il ary g -

Not mare than halt the bhe

be spliced ol @ section ™ thouky

All o thiy above

{Choose most  precise u.g‘.m'n"

The differeney between CONSIUCing ap
influsenae Line and constructing sheay o
motnent diagrams is that the .

(A)

(B)

()

Influence lines nepresent the effie
of moving loads, whereas shear ang
moment diagrams tepresent the

effect of fixed loads

Influence lines ropresent the effuct
of loads at a specified point on 3
member, whereas shear and
moment diagrams represent the
edffect of loads at all paints.

Influence lines represent the effect
of a moving load only at a specified
point on a member, whereas shea
and moment diagrams represent the
effect of fixed loads at all points
along the axis of the member.

Influence lines t the effect
of a moving load only at o specified
point, whereas shear and moment

diagrams represent the effect ol
fixed loadw at all points.

407/1 - Civil Engg.
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0'4 i § “--11'"4, il
% “wt '
L} .W‘
i -
‘f"lﬁ!n‘ y .
‘r~‘
' . “l i s
(1 j v
«)
e e
- with the (rjue errweits <4
() 15 2 (B o e
(Cl 5 455 (th 1 57

(30

(e\lg;?»
Gla 18

A rod ol wmmz ared of cnoses Saction s
the
C = 401 = 1000mm) has E = AH)
su befed o loads at different

figure

jocations. Find change inlength in section

AB.
.A ‘A
40 KN B
40 kN
Bic
D
A0 KN

(A) 20mm decrease
(B) 20mm increase
(C) 02mm increase

(D) Odmm increase

www.ErForum.Net
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gof , planning bcause
59. Auﬂmkdu-lfh"m 83, PERT s prederrs! 1
£
Saluration of $0% ata w3 ‘ o
0% The void ratio of samph ® (A) approperish 1 high precision e
(A) 135 extimate
| ol project
|m 003 (Bl for "-‘whd\(' ﬂ‘m
(€) 54 ©) event ariented:
o ,
) none of these ) Both (A) and (©)
60.  Th Flow tndex of a soil indscates o methods is ot
A vad ik 64. Which of the following
) variation of the plastic displacement msthed ¢

the ratio of I ' . x4
(5) tﬂﬂuoﬂl'quuhuullopw aN  distribution meths

lirmut.
(C) variation of shear strength with (B) Column analogy method
wWater content
(D) difference of liquid limit and
g (D) Seiffress {Matrix) method
61, A slope is conmidered infinite when 7 .
A & hour rainstoem with hourly intensities

65.
(A)  its length m the third Jdimension & dmnd,t,_,m,z_x,ts,vmdlmm/m
infinite produces s run-off of 37 mm then the

(B)  the slant height is very large. Aaseaia
{C)  the base of embankment is very {A) 75 mm/he (B) 65 mm/ht
long Q) 33 mm/he (D) 45 mm/hr
(D) all of these
: 66. Minimum penod before strikin
62. A BOD of a town 25000 kg/day and 3 £
BOD per capita per day is 50 g. The Wwp:p:m!ummdmld
population equivalent of town is : fpan ‘
(A) 10,000 (B) 5.000 (A) 7 days {B) 14 days
{C) 1250000 (D) 5,00.000 (C) 21 days ) 3 days
407/1 - Civil Engg, 10 2
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" a'my.,ﬂ,i""
LR g
phog g 4 —_
[tiybu’.,’)
vl '

LA} % M
L) jugy MF

"lﬂ’h #lives iy, B fiw )
I'W ™ m'gﬂl hy

(A) alh/g .,
M wl - v
) wlk

(D) aTE(1 -2

Whete, o, 1, |
linear ey pansion, tempesa

Mantulus of Hlasty J; - f‘h 2
sl iy, Perainy's Bt

)

The entey of foul stnwelling pases iy the
house caming from the sewees can be

privented by -

(A} exhaust Fan

(B)  providing water seal for all the
fixtures

(€} providing water seals for all the
fixtures and vent pipe in the

plutnbing systems
(D) providing sulticient vent pipes in

The minimum waler crtient ratio fof
temen! concrete to hydrate 18

iA) 0,25 (B 035
€1 n4s (o 0.60

www.ErForum.Net

and v gre O lfictapy oy

1

I 8

whi b wurhen & B f o

]‘f&' i FpeEt W

r';:::::l bl
A} fecnral pphlity

§) et woxment (AP
] et of e

(7 yield mmoenend

pPm

e

ra

25 kN (Compi
SVY AN (Temmile)
% kN (Comp)
5733 kN (Termile)

(A)
(B
(€}
(™

When unwage enters a flowing river, the
rapid depletion of dissolved axygen is due
to

(A)  respiratory activity of aquatic plants

in the river

microbial activity

suspended particles in tivers and
waste

none of the above

(®)
(8]

(0)

A sewage with a concentration of
00 ppm is flowing at a rate of 100 Ips
into 8 river. The river which has &
concentration 20) pom s flowing at a rate
of 400 Ips. The concentration of resuiting
muxture will be

(A) % mg/l
(C) 114 mg/l

(B 100 mg/]
(D) 324 mgN

Page 10
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'y 11
= ; ﬂ,’" ‘,“'.“vr width
3 lﬂg more 79, For s solid c.‘aﬂ“l":’ﬁ'hr ""ﬂdnmr with
™S Which of the hswm k um;:.,-nlfl“'d -;m". e 4.113:‘] /3 of the
fire resistance capacity 4 (h,,) Is ‘,,|rulu:"';l ot O
Limest rovided It ¢
(A) e IPM}‘ of alatt) 28,-0
let h |
(B)  Marble 5 (") 4
(€) Granite (A) &t (o) p) + 148
(D) Compact sandstone © 128t . I red l:;c:d‘
/ ypport
. where, apdist? > atileve’ duf'"l’ the
76..The shape of the STOP sgn bUMET B¢ rom the {55 pntact
roads s ; :;;:i:’nl'ra'ed k ‘
(A) octagonal  (B) hexagona!
(C) circalar (D) rrilﬂl“h’ g timber 15 caused
fotlow?
80. Whicho!fthe
ot 7
77. Plastic collapse s defined as the failure 7% (B) foxiness
stage at which : A) v psets
(A) plastic hinges have formed in all the o D) wet rot
members, (C) dry
(B) the stresses in all the members ‘
crosses yield point. ) i’ Jooting
‘ ' terminates in
(C) sufficient number of plastic hinges 81, When & ml:c?;?conﬁniﬂz reinforcement
have formed due to the loads or mal, §p the footing or mat at
(actions) in a structure leading to & shall extend into the
fallure mechanism. least to
(D) my O{ ‘he nme (A) 2m mm (B) 300 min
: (C) 400 mm (D) 500 mm
78. The magnitude of the bending moment
at the mid of the span in the beam shown
is:

82. The deformation produced by a unit load

is called :

(A) Stiffness

(B) Unit strain
(A) wof/12 (B) wol/24 (C) Unit displacement
(C) maximum (D) zero (D) Flexibility

WI/ZI - Civil Eﬂg& 12 .
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‘l Ff"' a LT
l“?‘ SR bl b wi ol s W
1’:"’”" the A by lij}..'lﬂ ) .'h:l,f::‘ M‘.‘n\ VH( “ I"Hl iﬂ“‘ 54
Whﬁa u‘i‘lﬂﬂ- 4 kb, g A ’..' e jaliut FTU #
e EPcater than el ‘.M m}ﬂq\ .
W 7 LI T ﬂ [plesmminetic SFEE g
) 2% g s Peoskabdlianie ail sty
LS ,mmmﬁﬂ.ﬂ
B A ‘siver tram | | L il Ui abwpew
when m Q?f l senerully i ™
(A appradi ’ .
ERrading type Ny, gaeownd walar le genwernily frov from :
(B degrading type '
ities
() meandering type [ "y e
(1) both (A) and () R, WShvad bpracti
©) both Suspended Impurities and
disolved impurities
85, ﬁci‘ the correct statement for the frame
(“hmm‘"ﬁc'hl\ﬂ-‘t}mvmhlaw. (0} none of the above
The joint D ks subjected 1o poirit loads in |
all three (x, ¥, 2), positive directions.
z |
)to—? " B 58, A pcq;dr in expected o take 30 months
/. along the critical path having a standard
Y A deviation of 6 months.  Find the
pmbuhtli}y factor tur completing the
n. lc Jpivgect within 27 months.
e ———
(A). 0.8 ;
{A) Resctions at joint-C are Forces in all e W. 03
directions, and moments on all < o3 ™ 01
planes,
{B) Reactions at joint-B are Forces in all
directions, and moments on all ’ ;
planes. 0. I}"’u&““‘“"wm:' ‘_m%::n:nﬂh the axis
: “Hp member should be i
{C) Reacfions at joint-A are Foroes in all Pt :
directions, and moments on all _
planes, (&) 3070 ®) 3.6
(D) None of the above C) 4050 O 4070
407 /1 - Civil Engg, 13
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BKED g,
- ' 2. The influeice of temperature on the

90. A student in an examif® Lo guest
less than 10 munutes 10 Mﬂ'ﬂd‘ * madulus of elasticity is taken as :;‘[l,'::“lz
and scmetiaws he/she WM’# takey for structures of mild atecls an whfn
u minutes o answer 8 . wu}» in N‘!mp(l’ature‘ i § {tn dl‘grl‘cﬁ) .
performance (s rvalﬂ““lm“ then ¢, S600°C .
PERT project, estimate m'!‘.-’a L Y
answer o question and i vt EM T
W Fa) T oowin| - |
X L1100,
(A) 157 und 09
:
(B) % = 1.0+ [m}
Xl —
(B) 147 and 039 1100
1- |
(C) 1217 and 0.69 <« ED 090[ 1000
) Eao) T-55
(D)  None of the above T
%) [1 - f(iﬁ
(D) ED 1.0+ -
E(20) T - 533

Where E(T) is Modulus of elasticity at
temperature T, and E(20) is the modulus

91. Stress path is : of elasticity at 20°C.

The Y-coordinate of the centroid of the

(A) Continuous representstion of 93. ' "
successive states of stress that a soil shaded area is :
sample passes through during test. P

(B) obtained by plotting the

experimental data on p-q
coordinates.

(C) is always a straight line

(A) 371 mm (B) 429 mm
(D) all of the above (C) 345 mm (D) 324 mm
407/1 - Civil Engg. 14 .
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" Fie ‘-il“ﬂif‘h‘ ¢
¥ ooombrod of 16 g0 e 4 tin the
the . TV Ot g po ol the enetgy 109
“lﬂnhf U‘ ‘.H“IPLS! My B treeted is r, “ ﬂ":“;:" crmn Lasty betd OVES "" "“‘V’n\
(A} 3 m 4 lﬂl‘“' g U st bups) cunrae ton test s
| TURER m il
5
© (M) & @ 1 o) L6
‘ sand deposit (o = (067, Ge L6T) s Sm
95.  When thers s no PPOP=T quality conteg) ». 3,;;}., The headd of waler (m) tequiied for
tor m!bq; the concrete fup i the qquick condition s
proportioning. the assumed standard i
deviation shall be increased by | ' (A) B0 vy n ‘e
(A) 0.5 MPa Bl 10 My © 10 3 &l
(C) 1.5 MPa (D) 20 MPy

100, Theoecables are joined al the junction ring
C. The satio of tension in cables BC o
cable AC is
96.  Which one of thw lollowing pressure ypj

represents  the greatest value of
pressure 7

h‘" wifwe

(A)  millibar -

(B)  mm of mercury
(€ N/mm? (A) L5 By 222
(C) 178 Dy L2
(D) kgi/end & T
97, Maamum effective slendemness ratio for
tompression flange of a beam against
lateral torsional buckling is -
(A} 300 (B) 250
i€) 180 (D) 150
40771 - Clvil Engg, 15 i
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